1.

Ir&is CaiayssT @sssL, gsrsner — 600 006.
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@ns wHIIH (peonullsd o 6Ter el ST YEMEATSGID LT LILSSSHD LHMILD Siey
US5555mF  IpliumLIunss  G&mer(hererg. @ns wHIIH (peomulled
GO steremss  efly  wrHy  (pempuiled  memTeutseT - sflurs  Siey
ST HHESTNID 5GBS UBRS.H  Weopuiled (e WSHUIGCILTSET  UPBISLILL
GeuetoT(h\LD.

&lov allenL_sEmEE E0L 2 6rar @GMIILSmeT SeausrLpLsir LsTumm Gealssor(hin.

(G,SSNRIGET 6TPSM6) SevoTsSleor Siallener SHlTg &emorsal(HETAT LOTETTEUITS6IT
uUTSSSLILLTN @HULSHSTS, (FHSSTmseflsr wdlillamer o srerL&d Hemsgst
QUEDTILINISSLILIL (Dl6TTerT6or. sTeTGey, [HlemeuseT  HoupTs  @I(HESGSL UL FSHSH0
teSSImigsT sflurs eTusUu el (&SSNmisEnsamer wEIGLsr GLTS)
sl Goemr®. @emen  *  @MuiiLmw @mlésiul Gerersr.  Hlemsvs e
SUNTE @(MHHhE SGHS (HSSmssT sflurs srupdl @ millsr Hme wEIGLsar (2*)
a8 @i, (GSSHTS5SNEG 1 wSlibluser apmisILL Calm(id.  (SHSSNThigeT

STWSTEMLSSTS LSILIGILETIT GMDSS Sn L TS,

Gifley 11, I womd 1V @led 2 6er eflermailsmer afenLser (pueugid sflurs
@mnsTe CrTgwrs (P LSIGLmTST apnisiLL G, Hlimasafle Sam
@Pm&E0D ussHi L HiGw  (Stage Marks) Hlemev wHIGLETTST Seuflssefliums
LIS GavetaT(HiLD.

Bevid Lommid &L snwoudlesrmey 6TpSULL HlsTam aflemLse i (HiGL STEH Glaii

Ge6m0T(HILD.
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difley 1

sriysmL eflemLullesr GmMlui® womin 96T eflsLwn srepdl @miidsr wHiGw 1 weIGLsser
QarhsaiuL Geaustor(Hib.

alloL @ik ojveg el o dlunimms gCsmId 6Tm Seumrs @\midsr, 9EneE 0
L&iGLstar L HiGL aILprhis Gelstar(HLd.

CODE A CODE B
Qn. | Option | Answer Q.No. | Option Answer
1 (2) /6 1 (3) 2xu
2 (2) NG 2 (4) N
22
3 (3) t=1/3 3 (3) 31/8
4 (3) 2Xu 4 M/A
(4) (0,1/8) 5 (3) QLIS
2_6nL LG
6 | (3) RUBEISMLOR 6 (4) (0,1/8)
2 6L LG
7 (2) [2 ] 7 (3) /3
-3 8
8 (4) 40 8 M/A
9 M/A 9 (3) X0y S6id
10 (4) UML) S 10 (3) 3
LILeflevsmev
11 (4) N 11 (4) UEDILMISHESLI
LILel6v6m6v
12 (4) V10 12 (1) tan™ (1/2)
13 (3) 3 13 (3) t=1/3
14 (1) 2 14 (4) 40
15 (3) XOY S6ITLd 15 (1) 2
16 M/A 16 | (4) V10
17 (3) 3rt/8 17 (2) V7
242
18 (3) /3 18 (2) 2 -
E
19 (2) 1,2 19 (2) /6
20 (1) tan™ (1/2) 20 (2) 1,2
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Wlifley 2

QUESTION
NO.

CONTENT

MARK

21

1+i (1+i )

= =i (1)

1-i 1+1
Se = o loiP® | o (2)

(1)+(2) =i - (-i) > =-2i

1(*)

22

(1+i) (1+2i) (1+3i)........ (1+ni) = x+iy

@ mUDpLD WL (H Smevor

| 1+i] | 1+2i] | 143i]........| 1+ni| =] x+iy]
V12 4+ 12V12 + 22V12 + 32...........
@ mUDWL TSSILGSS
2.5.10.......... (12 + n?)=(x? + y?)

23

Sin ! [sin (%ﬂ )] = Sin [ Sin (T + g)]

= Sin ™ [Sin (- g )]

4

24

Given7= -27+k }
F=21+j -k
HmlusSmer =x F=-i -2k
sTevoTemTemey = V12 + 22 = /5

s 0% 1 2
Hewa Qaremasiaer=( -, 0, - =)

25

f(x) ereoruigy [ % ,2]- @60 G]grn_r'réa‘-lu.lrrassq&?t

f(x) steotug (% ,2) @60
DS 5S555STE6LD
f(1/2) = f(2) = 5/2 ereur @)\mLuN6dr
Grmedlerr GemmLLe f'(c) =0
C=1 1 gyeummed c=1€ (,2)

]

1(*)
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26

f(x) = x %+ 3x given x =2 and dx =0.1
df = (2x +3) dx
df = (4 +3) (0.1)
=7 (0.1)
=0.7

27

. z f(Sin x)
I _fﬂz f(Sinx)+f(Cos x) dx (1)
LievorLSletT

OjigliemL_uSled foa f(x)dx = foa fla—x)dx

. z f(Cos x)
I _fﬂz f(Cos x)+f(Sin x) dx (Z)
Add (1) + (2)

21 = [Zdx = [x] =§

| == ereoT ML L
% i 8l

28

Yi=4ax e ()
Diff w.r.to. x,,

2y =82 (2)
(2) & (1) Gev Lruil

2_5y W
Y —Zydxx

— 4y
Y—dex

29

e, LMHMID e, eTedruerr &oefl 2 ML ST
6T60TS
e, eT6TLIg &Lo6ufl LoMMILD e, eTeaTLIS;) 67GSEMILD
62(1 2-MIIL] 6T6ufl6y

91* €= ez* €1 =€y =====mmmm-- (1)
e, 616U &Lo6ufl LoHMILD e, eTeaTLIS;) 67GSEMILD
62( 2-mILiL| 6Téufley

e:* e,= e,* e; =@1----------- (2)
From (1) and (2)

e; =ey

gueafl 2 M @HMLS SH6TenLd UMLIESS)
6Teor [l LI’ L g,

30

Given (y-k)? = -4a (x-h)
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Guauid (h,k) =(2,1)
(y-1) 2 = -4a (x-2)
@&l (1,3) aufl QST
4 =-4a (-1)
s~a=1
(y-1) *=-4(x-2)

1(*)

@0 GOLNLL Booo sounTs QlHEE JBMMTE SMES WhHmSWL
suflser aflures @midfsr (Heae wHIGLer 15@ G @)mHESmev)
5 aflEEnsg 2fiu 1 wHitusmmenr 9hs HlenasGtiu
wHLGLsTeanlld(mEg 5815 (Stage Marks) Gar(hi&s Goussr@lL.
Blensvs @il (g SIIGILIGTOT 2 & (LpYFDLIILITES LINISSH6) SaL TG

Question Content Marks
No. Stages
31 A=| 2 9 |A|=14-9=5

1 7
2 1 _
A'=19 7| |AT|=14-9=5
7 -1 1(*)
Y T4 I E— (1)
-9 2
7 -9
1 _ 1 —
A ~5
1 2 1
7 -1 -
] 1
A T=c| | e (2)
-9 2 1

From (1) & (2) (AT =J(A b B
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32

ax? +4px+p+2=0
D =b’-4ac = (-4p) > -4(4) (p+2)
=16(p+1) (p-2)
D <0 if -1<p<2 ELPEURISEIT SHLIEN6IT
6T6UOT &61T

D =0 if p=-1 or p=2 swowomesr G0l
CLPEVIBI6IT

D>0if -o<p<—1or 2<p<om
GleusuGsummenr GlLoLL eLPEOMHIS 6T

1(*)

2(%)

33

x2=-4 ay
@\s (20,-15) Lomid (-20,-15) auflF
GFs06USTeV
4a = 400/15
GCaemeauLime LTeusmeTILSSl6or &LosarLim(h)
3x*=-80y

1(*)

34

d=—50+ 7] —4k
b=137 - 5] + 2k

Coemiwimenr Gem ipeir GleusL I &osTum(h
F=d+t(b—d)

=(=51 + 7] - 4k)+t (181 -12] + 6k)

(OR)

=(=51 + 7] — 4k)+t(31-2] + k)

SMMedlLI6oT SFLo6oTLIT(H
x—-x1 _y-yl z-z1

x2—-x1 y2—y1_ z2—-z1
x+5 _y-7_z+4
18  -12 6
CriGasr®h XY sergms Gl (hib ereufled
z=0
x+5 _y—-7_2
18  -12 3
@eu”_(pb yerrefl (7,-1,0)

1(*)

1(*)

1(¥)
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35

Plx) = z:;jx—4};;j1x—a}
55x
f'(x)=0 =>» x=4,8/7
f'(x) susmmumISSLILL69606mev 6Teufled x=0
HlemevLiyererf] stevoraseir 0,4,8/7

(1)

(1)
%

36

du i 3x*

E - x3+1¢r3+z3

du _ Syz

a_}.r B x3+1¢r3+z3

du _ 3z2

E . x3+1¢r3+z3
du  gu du _ 3::x2+y +z
E a E_ x3+3.f3+z3

2,2

)

(1)

(1)
(1)

37

P(2<x<6) = 17k (OR) =~

(3%)

38

k fﬂl x(1—x)"dx=1
k=132

(2%)
(1)

39

~p | p>q | ~pVq

T

MmN M- T

q ->
T F T
F F F F
T T T T
F T T

-

p->q=~pVq

2 (%)

(1)

40

SETSHSI60T SMTLeFULII SFLOGITLITL g 6M6TT
@m auflsaflsd gjueg @\ (Wemmseflsy
&HITEUUTGVITLD
1) Gerhssiu’L Car@seflsdlmhs
@ Leirsrl Lomuid @), Glememor
QleusLTaemer LILGHTLI(H) 581618 60T
ELP6ULD
2) Gar@ssUu’L Camaseflemha
B\@ UeirerflaseiT LommILd eap Blomevor
GleussLemi LL6TLI(HSSI6S60T PLIGILD

(1)

(1%)

(1%)
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@® GHLICL foo somTs @GS ISMATE SIS (PHmSIL
suflser giflurs @ @minller (Hemev LHIGIL6TT 15@ G @)mHHESTE )
o5 aflEnsg 2fiu 1 wHieusmmenr 9hs HlenasGtiu
&Gl l0(mEg NfS8I6 (Stge Marks) Q&T(HHS Gousiar(HILd.
Blenss @il (g SIIGILGTET 2 8 (LPIYFDLIILITES LINISS60 &al TS,

Question Content Stage
No. Marks
a1 (a) 1 -1 1 -9
2 -1 1 4 (1)
[A/B] =|3 -1 1 6
4 -1 2 7 )
1 -1 1 -9 )
o 1 -1 22
[A/B] =|0 0 1 -23 (2)
o 0 0 -11 |
g @snE @emswnumer Goum)
MILllg Gl 6LLD
p(A) =3; p(A/B)=4 (OR) (1)

p (A) # p(A/B)
o Fuerum_(H Gsr@Ly

R(HRIGEMLO6] 2 DL LIS (1)
41(b) x=Cosa +iSina } (1)
y=Cosf +iSinf

X

~ = Cos (ma — nf) +iSin (ma — npf) } )

= Cos (ma — nf) -iSin (ma —nf)

I

Y Zoisi _
- “n =2iSin(ma —np)

x™y™ =Cos (ma + nf) +iSin (ma + nf) .
= Cos (ma + nf) -i Sin (ma + np) (1)

xm yn
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xMy"+ = 2 Cos (ma + np)

42 a) 1t
y=Cos X
0 g& [ 3
-1
v
?
!
Y = Cos * x /2
\ 2
) -1 0 +1
v
42 (b) UL L Sleir FLoeoTum (b
x% + y? +2gx +2fy +c =0 (1)
2g + 2f +c=-2
4g-2f +c=-5 (1)
6g+af+c =-13
f— 1 . - E . =4
—'2 ’ g—'zr c= (2)
x2+ y?-5x -y+4=0 (1)
43 (a)

_

P(x,,-7.5)
x%=- day
(3,-2.5) ureusmemugSletr LigleTeTS;)

9
a=—
10

(1)

(1)
(1)
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x2=-4( )y

At P(x,-7.5) x;=3V3

Ermengl @S5816 Comipdlmbg 3 V3 B
SMSHNES IJLumsy Semyullsy aflepLo.

(1)

(1)

43 (b)

A

%

o™\

v

A
a = Cos at -Sin aj
b = Cos Bi +Sin B} }
d.b= CosaCos f-SinaSinf
@.b= Cos (a+p)
Cos (a + B) =Cos a Cos B - Sin a Sin 8

(1)
(1)
(1)

(1)
(1)

44 (a)

a=7J-5k
b=27+3]+6k
C=T+]+k
Som&Hleor GleusLIr sLosorLim(h
1_"’=(f—5E)+s(2f+3f+6§)+t(?+f+z)
SMedlLieT SLoeTLIT(H
9x—-8y+z+13=0

(1)

(2%)

(2%)

44 (b)

2

1= [0 == dx - (1)

1+a*

2
=" a* == dx (2)
(1) +(2) -
21=[" cos’x dx

-
w1+cos 2x
=2 [y ——dx

1]
N | ]

(1)

(1)

(1)
(1)
(1)
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45(a)

L - 60 Km/hr
dt

2z _ 20 Km/hr
dt

%=?whenx=0.8andy=0.6

Hgreran CanmsHlr Lig
2 2 2
X +y =1z
when x=0.8andy=0.6
z=1
XZ " y2 — Z2
2x 4 2y Lo
dt dt dt

E=70Km/hr
dt

(1)

(1)

(1)

(1)
(1)

45 (b)

A

v

NS

T
cosx,0 < x < >

VA
— COSX,~ <X<T

upliy A= [2cosx dx + [z (—cosx) dx
2

=2

(1)

(1)

(2%)

(1)
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46 (a)

14-X

Uiy a’ =196
UGS a =14
&eor 9jemey V = x (14 — x)2 =196x + x> — 28%°
V'(x) =196 +3 x° -56x
put v'(x) =0, x= % oré
v”’(x) =6x-56
49 123
When x = ey V>0

7
X= —3,V" <0

S6IT 9|66 2 FFLNS @58 K58 ColstoTiglL

C o 7 -
EZITSSI60 L& |aTe)| — 6Tenr Hmieiil L gi.

(1)

46)b)

M = F— KV
dt

dv K F
dt M M

Kt
Cer.er =eM

T VeM =—eM — +¢
5 6)4 M t

or
—-Kt
F —_—
V==+ce M
K

t=0,v=0 - c=—
K

-Kt

V=r(l-em )

(1)

(1)

(1)

(1)
(1)
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ar

47)a) £ -k (T-50)
dt T
—— =t
T-50
T-50=cekt (1)
(i) t=0,T=70 -  ¢=-20 (1)
(i) t=2,T=60- -10=-20e2%k
1 1
k =-log(*) (1)
50- T=-20ez °5'
t
T =50+20(§)5
T=98.6 t=-2.56 (1)
CgmymuLnms: @miks Crrid 5.26 p.m eTeT (1)
Himieuiu’ L g
47(b) Hapseey Hleom iy
X=X 0 1 2 3 (1)

P(X=x) 1/8 3/8 3/8 1/8

3
E(x) = i
E(x*) =3

=2 Lreudug =2
gynafl == uraiLe = -
glumT &0 | FRHMILIL| LIT66D

1 ]

r]:3’p::5’ q::E

gymafl = np =

3
2 3
ureudLly = npg =~

(2%)

(1)
(1)
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